L& XHTTBUR 557 ZAT A A+ BEOLER

B 2T

M H A A HX ¥4
. 20234 AT PHAT EL A=B+D 42.91 42.91
(—) —f&fizz B 10. 59 10. 59
Hrp. HaL% iR C 6. 14 6.14
() Lhifisz D 32.32 32.32
Hordr: FRhBEfiS E 10. 90 10. 90
T 20235 AR TR AT HL F=G+H 12. 83 12. 83
(—) —f&fizz G 3.43 3.43
(=) Loz H 9. 40 9. 40
=\ 202354 BT AT £ I=J+K 3.58 3. 58
(—) —khigF J 1.58 1.58
(=) Loz K 1.99 1.99
VU, 2024%F 18 A T S 4L L=M+0 14. 25 14. 25
(—) —f&fizz M 3.25 3.25
Horr: Ffh Bt 2.93 2.93
I AR 22 A N 0.33 0.33
(=) Boifiize 0 11.00 11. 00
Forr: PR T 11. 00 11. 00
JoF PRS2 A P 0.00 0. 00
T 2024584 BT AL Q=R+S 4. 41 4. 41
(—) —ffizz R 1. 77 1. 77
(=) Loz S 2.63 2.63

e L AR A X FIA LG bR BUG i (S FRS 6D RAT SOEARA B HATE A BT BUR 6 23 8 A4 IR HSE
2. AR M EH AT B HIF BT TEARN RE R SRS R —+HA QT



